Soustraction de Nombres (E)

Nom:

5487
— 80

5226
— 93

9583
~ 40

7725
— 42

4381
_ 84

Calculez chaque différence.

1248
— 11

7858
- 39

4540
— 19

1684
— 85

9769
— 60

3455
— 13

5254
— 15

3817
— 28

9454
— 26

3589
— 80

2393
— 79

4530
— 13

7055
— 60

4513
- 99

1099
_ 14

MathsLibres.com




Soustraction de Nombres (E) Réponses

Nom:

5487
— 80

5407

5226
— 93

5133

9583
~ 40

9543

7725
— 42

7683

4381
_ 84

4297

Calculez chaque différence.

1248
— 11

1237

3455
— 13

3442

5254
— 15
5239

7858
- 39
7819

3817
— 28
37389

4540
— 19

4521

1684
— 85
1599

9454
— 26
9428

9769
— 60
9709

3589
— 80
3509

2393
— 79

2314

4530
— 13

4517

7055
— 60

6995

4513
- 99

4414

1099
_ 14

1085
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